Mean: weighted mean +20 Data: £10
Error Type: SEM, but if MSWD>1 use SEM * sqrt(MSWD)




Plateau= 0.189 +0.009 Ma mswd= 0.38 n=15

Total Integrated Age= 0.189 +0.010 Ma n=5 Weighted Mean= 0.189 +0.009 Ma mswd= 0.38 n=5




Ages *2[]
Error Env. £2[]

Plateau= 0.195 +0.011 Ma mswd= 1.28 n=7

Total Integrated Age= 0.199 +0.009 Ma n=8 Weighted Mean= 0.198 +0.013 Ma mswd= 1.97 n= 8




Plateau= 0.176 +0.032 Ma mswd= 1.43 n=5

Total Integrated Age= 0.195 £0.033 Ma n=5 Weighted Mean= 0.176 +0.032 Ma mswd= 1.43 n=5
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